
Subtracting up to 10 (H - set 2)
CHALLENGE

Name:

Time: Score: /

541) 8− 3− 5 = 551) 0 + 2− 2 =

542) 2 + 6 + 0 = 552) 7− 1− 4 =

543) 7 + 2− 5 = 553) 9− 7 + 5 =

544) 2 + 7− 7 = 554) 6− 2− 2 =

545) 6− 4 + 3 = 555) 8− 5 + 0 =

546) 1 + 6 + 2 = 556) 2 + 6 + 2 =

547) 2 + 0 + 0 = 557) 3 + 1 + 4 =

548) 7 + 0 + 0 = 558) 3 + 3 + 1 =

549) 9− 8 + 6 = 559) 1 + 9− 1 =

550) 3 + 2− 4 = 560) 6− 2− 3 =

Mathematics: Subtraction - Level 1 - Horizontal - Set 2 29 © workulum.com

https://www.workulum.com

